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Answer (D): The diagonal of the rectangle from upper left to lower right
divides the shaded region into four triangles. Two of them have a 1-unit hori-
zontal base and altitude % b= 2%, and the other two have a 1-unit vertical base

and altitude % - & = 4. Therefore the total area is 2 - % -1 ~2% 2. % 14 = 6%.

Answer (D): LeRoy and Chris cannot both be frogs, because their statements
would be true and frogs lie. Also LeRoy and Chris cannot both be toads, because
then their statements would be false, and toads tell the truth. Hence between
LeRoy and Chris, exactly one must be a toad.

If Brian is a toad, then Mike must be a frog, but this is a contradiction as Mike’s
statement would then be true. Hence Brian is a frog, so Brian’s statement must
be false, and Mike must be a frog. Altogether there are 3 frogs: Brian, Mike,
and either LeRoy or Chris.



